PUNJAB EXAMINATION COMMISSION
EXAMINATION 2015, GRADE 8 Model paper 1
MATHEMATICS PART - B (Subjective Type)

RUBRICS
Part-A = 48 Marks, Part-B = 52 Marks, Total Marks = 100
Q. No.33.
(@)  If A={1,4,6} then find the power set of A. I e AIA={1,4,6)/1 3)
All the possible subsets of A={1,4,6} are:
@, {1}, {4}, {6}, {1.4}, {1,6}, {46}, {1,4,6} 2 marks
The power set of A={1,4,6} is:
P(A) ={0, {1}, {4}, {6}, {1.4}, {1,6}, {4,6}, {1,4,6}} 1 mark
Note:
For writing all the subsets ;afer & 2 2 marks
Placing brackets of power set4Léw‘~(zJ Cred 1 mark
e HriLA={1,4,6}
@, {1}, {4}, {6}, {1.4}, {16}, {4.6}, {1.4,6} A2
cered¥A={1,4,6}:
P(A) ={0, {1}, {4}, {6}, {1.4}, {1.6}, {4.6}, {1.46}} A1
(b) Find the square root of “3” up to 2 decimal places. (5)
P i e 263
1.732
1 (3.000000 1'Mark
1
2.7\ 42.00 1 Mark
189
34304100 1 Mark
0.1029
3.462 | 0007100 1 Mark
0006924
0.000176
V3 =1.73 up to 2 decimal places(—F .21 »5) 1 Mark
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(c) Find the cube root of 27 Lot ik 27 2)

321 3 27
=33x3x3 1 mark

3 9
L 3_ 3
3 3 3
=N =@)° } 1 mark S
= 3 1
Q. No.34. (a)Solve (4312)s + (4444)s 43125+ (4444)5- 1/ f (2)
(4312)s
+ (4444)s
(14311)s 2 Marks

(b) The annual income of Ali is Rs.1,824,000. The amount of rebate in tax is Rs. 400,000. (4)
Calculate the amount of income tax at the rateef 17.5%.

e P 1 hr £ 17.5% - s,4000002 5 U2 U /182400004 200 S

Taxable income = 1,824,000 — 400,000 }

=Rs. 1,424,000 1 Mark
17,5
Amount of Income Tax @17.5% = mxl, 424,000 1 Mark
_ L1 424 000
10x100
= Rs. 249,200 2 Marks (if unit is not mentioned

then 1 mark will be deducted)

AuTo% e = 1,824,000 400,000 }

= Rs. 1,424,000 P2
ﬁ“zd/ugfl:._,uéc/“l?.S% :%xl, 424,000 A1
__ I 1 424,000
10x100
= Rs . 249,200 A2t A3 560
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(c) If 10 laborers earn Rs.10140 in 12 days, how much money will 15 laborers earn in 10 (4)

days?
LU 1B U100 2159 LU 211014004 095120 2101
Earning (in Rs.) Labourers Days
(ij/ mp (O}
T 10140 Tlo 12 1 Mark
X 15 T 10
Identifying correct proportion by arrow sign or by statement 1 Mark
M%)/lkungd/&&agkfv/l;
oD 1 Mark
10140 10 12
=2 x 10140
12
_ 152100
12
X = Rs. 12675 1 Mark
Q. No. 35. (a) Multiply x3+4x?—2x—20 by x—2 2)

Ui e X—24 X3+4x2—2x—20

X3+4x2—2x—20

X X=2
x*+4x3— 2x2—20x 0.5 Mark
—2x3— 8x2+ 4x+40 0.5 Mark
x*+2x3—10x2—16x+40 1 Mark
1 ) , ol ..o 2 1 1
(b) If X+;=4f|ndthevalueof X +? LS i X +71X+;=4/I 3)
1
X+—=4
X
By squaring both sides, we get A Ui
2
1
(H;) =(4)’ 1 Mark
, 1
X" +—+2=16 1 Mark
X
1
X2 + —2 = 16 - 2
X
, 1
X"+ - 14 1 Mark
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(c) Solve the given simultaneous linear equations by using the method of equating the 5)

coefficients. -q/d’:,zi.)LL//.u,fu,/dmfuiuwm&».{é@
2x+3y =9
x+7y =10
2x+3y=9 1)
X+ 7y =10 2
2x+ 3y = 9
+ 2x + 14y =120 1 Mark
-11y=-11 1 Mark
11
y 11
y=1 1 Mark
Putting value of y in equation (2) PR LI NSV,
x+7(1) =10 0.5 Mark
x+7=10 0.5 Mark
x =10-7
X=3 1 Mark
sox=3, y=1

Note: Student will be awarded marks for equating the coefficients of any variable.

Q. No. 36. (a) How many litres of water can a“spherical tank of radius 21 cm hold? (4)
(whereas 1litre =1000cm3)

(L#=10006m? )8 (ET3L 2 &t U1-e 2L emu b E JS
Radius of water tank = r = 21cm
Formula to find volume = gﬁﬁ

4( 22

=—| == ((2D)?

(e
= %(%) (20)%(21) x (21) 1 Mark
= 38808cm? 1 Mark
Since lemé= y = litre

1000
So 38808cm?®* Rga08 litre 1 Mark
1000
= 38.808 litre 1 Mark

Note:
e Putting correct value in correct formula (1 mark)
e Correct calculation with unit (1 mark)
e Conversion of cm? into litre (1 mark)
e Correct answer with correct unit (1 mark)
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Ju/Kﬁ =r=21cm
1VNQJ@WZ=gﬂF

4(22
=222 21
(e
- f(gj (21)x (21) x (21) A1
3 7
= 38808cm® A1
£ 1lem= L itre A1
1000

14 38808cm?3= 38808 litre
1000

= 38.808 litre A1
O
(/l)@L/Zgndunuﬁ“iun *
(/721)/,:&4;‘4//)()’&//} d
(/:}1)/,L/'u,iuﬁﬁ/cm3 s
(/1)46%:/11?1}?://; *
(b) Construct a regular pentagon with each side measuring 4 cm. 6)
4P AL Lo P
For
i. Drawing m AB = 4cm 1 mark
ii.  Constructingme£ A = m«B=108° 2 marks

iii.  Drawing an arc with gentre at A and radius 4 cm which 0.5 mark

intersects |AX at E
iv. «Drawing anarc with'centre at B and radius 4 cm which 0.5 mark

intersects BY at C

V. Drawinganmmarewith centre at C and radius 4 cm 0.5 mark
vi. . Drawing an arc with centre at E and radius 4 cm. It 0.5 mark
Intersects the arc drawn from point C at the point D
vii.  Joining C with D and E with D 0.5 mark
viii.  For correct construction 0.5 mark
i. & AB 125 Liddem A1
i, 6 k108° U sl AB A2
. QLB I L A 2 i O S A LS S AL 0.5
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V. U cuinss 2l BTS2 ASUS p BE 0.5

V. WU RE IS el 0.5

Vi W i eI RS S R 0.5

Vii.  4ibe EusiCiDE 0.5

viii. 4L/J‘[u},#fABCDE 0.5
D

A B
4cm

Note: Students can use any of the alphabets.

-mé/d&ufg,if‘;é/&.si

Q. No. 37. (a) Prove that if a transversal intersects two lines such that the pair of (7)
alternate angles are congruent then,the lines,are parallel.

Luni# B uiunt e sz L ol SEUI S B ole LN Sy et

Diagram .+ 1 Mark
Given (s 1 Mark
To prove—s 1 Mark
Constructionf* 1 Mark
Statements=tL. 2 Marks
Reasonsf i 1 Mark
(b) Find the arithmetic'mean‘of the data 9,5, 8,6,8,7,6,5,9 (2)
LS LA §9 5 6 T 8 <6 <8¢5 91y
AM = 9+5+8+6+g+7+6+5+9 1 Mark
- % =7 1 Mark
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(c) Find the value of b from the given triangle. (3)

.@/r)”af;{bqud;ﬁérﬁ:
C
coSsmLA=—
1 mark b 60°
a
cos 30° = &
b 300
ﬁ = & 1 mark (for correct value of cos 30°) B
2 b c=23
(/.:Lf tned .:'/J)d/ cos 30°)
b=2x2=4
b=4cm 1 mark

(If unit is not mentioned then 1 mark will be deducted)

Q)"o
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